THAEE SXFHAES

£ 44 48 1BHLEF 5% 3H31HFET) F25D1HK
*iﬂﬂﬁ%l: > HEEHEARESENR

_ (B M) No. 1

B & ¥ H LEERE AEERE 1B
NEERRE XIS 188,673,285 193,144,921 -4,471,636
EDN I EER 0 0 0
[SIEEIE:S 0 0 0
| I [BERESHEINE 180,000 200,000 -20,000
I OO 0 0 0
E 0
K 0
& 0
) 0
12 —J—EX &g amat (1) 188,853,285 193,344,921 -4,491,636
i AGE 174,044,195 152,896,435 21,147,760
D EE 3 33,219,420 30,835,527 2,383,893
&R =%E 37,786,131 33,995,366 3,790,765
Z | FIRESIRT R 0 0 0
BAm{E RN E 4,890,870 6,751,225 -1,860,355
EEHEEEMNIE LTI -882,458 -2,183,112 1,300,654
A |BUNAREEE 139,629 0 139,629
[ENENEEIEES N 96,000 108,000 -12,000
Z DD E F 418,000 422,400 —4,400
H—F X &N FHaT (2) 249.711.787 222,825,841 26,885,946
*f—t‘x%éﬂi%;ﬁg Z=%8(3)=(1)—(2) -60,858,502 ~29,480,920 -31,377,582
B A Fl 2B I 0 0 0
S EF| B AL S SIS 209 202 7
" Iz EME#MEH 0 0 0
I | BEEEEAE 0 0 0
e -xﬁﬁﬁ;E#nﬂﬁH 0 0 0
2 BRERMEEETAE 0 0 0
= ZDMmDH—E R FEFHNINE 2,762,928 904,000 1,858,928
éﬂ F—E X & e N2 at (4) 2,763,137 904,202 1,858,935
s\ XIFIR 0 0 0
ié E1ﬁﬁ#n¥1ﬁ E 0 0 0
Sz 2 | AEE&EEiE 0 0 0
o | B [BARMmES A 0 0 0
a7 &R M EFTHIE 0 0 0
. FOMOY—FEXZHNER 830,710 947,630 ~116,920
H—FE R 5 Bh) & FHaT (5) 830,710 947,630 ~116,920
T —E A& e e 28 (6) = (4) — (5) 1,932,427 -43,428 1,975,855
e e gE (/)= (3)*(6) ~58.926,075 29,504,348 —29.401.727
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No. 2

B & ¥ H AREFERE BIEERE IR

5% B E @B £ IR A 2,200,000 0 2,200,000

EREEETREINE 0 0 0

N (B EEESRASTEEETHDSING 0 0 0

% |EE & EZIEEE 0 0 0

¥ & 7E & EE ST A AT 0 0 0

f:;JI Z DD RN 30,180,000 8,931,600 21,248,400

& 0

5 0

D Wl ET (8) 32,380,000 8,931,600 23,448,400

& EAETHHAZ 0 0 0

& (GEIMmE 0 0 0

A |BxE&ERME-0niE 0 0 0

EEHEB SR E TS INEEEE BRAE) 0 0 0

EEEEEEENELEIEIE 2,200,000 346,500 1,853,500

KEEEX 0 0 0

ZTRMDEFRIEX 20,000,000 0 20,000,000

0

0 0

T Bl & HET (9) 22,200,000 346,500 21,853,500

RS R EEE(10)=(8)—(9) 10,180,000 8,585,100 1,594,900

e R Ee(11)=(7)+(10) —48.746,075 20,939,248 —27.806.827

& [ e a s B = 28 (12) 189,493,188 210,432,436 -20,939,248

g UHAKBHUERIEEEE(3)=001)+12) 140,747,113 189,493,188 -48,746,075

e HAEENAEZE(14) 0 0 0

o | EDMMDIF S ENEAZE (15) 0 0 0

= [ZOBDBEI L1 (16) 0 0 0
37 | REGRBIENIB R ESE

ol (17)=018)4+(14)4+(15)—(16) 140,747,113 189,493,188 -48,746,075
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